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AGRICULTURAL INSURANCE
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Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.
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1. a) Afarmer has insured Soya bean crop for Rs. 12,000, Sunflower crop . 35

for Rs. 10,000 and cotton crop for Rs. 30,000/~ Area under each crop
is 1.5 hectares. The rate of premium for Soya bean and Sunflower is
3.5% while for cotton it is 4%. How much premium the farmer paid?
b) Threshold Yield for Soya bean, Sunflower and Cotton was 2650, 5
' 1630 and 1940 while Actual Yield was 1350, 1710 and 1945 Kg. per
hectare respectively. Calculate claim payable to above farmer.
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c) Calculate threshold Yield at 90% level of indemnity for wheat crop 6
for Rabi 2008-09 season based on the followin g data :
year Actual Yield k.g.
- - per hectare.
2005 : ~2100
2006 2350

2007 . 1950
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a) List out-problems associated with crop insurance in India. 6
~ b) What is Sum insured and premium under Janata Personal Accident 3

Insurance policy. Also describe coverage (benefits) under JPA. :

c¢) - List out any three common exclusions in cattle Insurance (Market 3
Agreement) Policy.
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Write short notes on any three of the following : 4 each
i)  Agriculture Revolutions’

i) Agricultural pumpset Insurance.

iii) Benefit of Agricultural Reinsurance.
iv) Honey Bee Insurance
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Write short notes on any three :- _ - % 4each
a) Rinderpest. ‘ v :

b) - Hemorrhagic Septicemia

¢) Black Quarter

d) Anthrax
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Discuss any two from the following : _ 6 each
i) Catastrophlc risk protection in US crop insurance. - '

ii) . Crop insurance arrangements in Australia

iii) Work plan of Hail Insurer
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. Elucidate important ‘Exclusions’ of poﬁl‘try insurance scheme. 12
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Explain the following ‘in Cattle Insurance (Market Agreement) Policy 4each
Answer any three:- '

a) Types of Cattle Covered.

b) = Age Group

¢) Valuation and Sum Insured

d) - Indemnity
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Describe the followmg features of NAIS: : 4 each
a) Crop covered.

b) Corpus Fund

¢) Premium Rates.
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Describe coverage and premium rating under Kisan Package Policy in 4 each ’
respect of the following : (any three)
a) Television Cover.

b) Pedal Cycle

c) Baggage Insure

d) Stock of Farm Produce
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Give long forms of the following :- '
a) NDDB

b) CCIS

c¢) NAIS

d) IRDP’

e) GCES

f) IVRI
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